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BRIRER ERL254E12 8 BE(12/124RE0) )
#S |thaaH FREKR [RIRERKR [FusskR (FoamkR | ELERKR |/MgaikR |MREKR [RNEKE |4RERKX |RAEKX |=vERkR |HEEKR |hEEKEK | S KK |EEEKR [48)IEKE [¢izEkR | @ BE KX 7}(%"%/%1@
AP BT FEIKARIK |#A7KARIK [#E7KARIK [HE7KERIK |#EKARIK |#EKFRIK [#A7KARIK [$E7KA2IK [#E7KARIK |#EKRRIK |#E7KAR K (87K 7K [#EKAEIK |#EKARK |#E7KAR K [#57KER K [#G7KAEK [#EKFRK
21 |— R 15 0 28 0 0 0 0 0 0 0 0 0 0 0 0 0 0 o| 100f&/ml
22 | KIBA BRESNGL | BEHIWGL BHIAGD | REIAGD RESAED RESWED BEINED | BEIAGD BHIAGD | RESALD RESKED BREShED BEINED | BHIAGD BHEIAGD | REShELD REShEL | BEEShEN S
3 [WNIIARUZDLLED <0.0003 <0.0003| <0.0003| <0.0003 <0.0003 <0.0003 <0.0003 <0.0003 <0.0003| <0.0003 <0.0003 <0.0003 <0.0003 <0.0003 <0.0003| <0.0003 <0.0003 <0.0003 0.003
24 |KEBERUVZDILED <0.00005 | <0.00005 0.0005
25 |[tLURUZDIEEY 0.01
26 [SRUZDILEY 0.01
27 |[ERRUVZDILED 0.01
8 |Affi/0LEEY 0.05
29 [PTALYMA RUIEEYTY <0001 <0.001| <0001 <0001  <0.001| <0001  <0.001  <0.001| <0001 <0001  <0.001 <0001 <0.001 <0001 <0001 <0.001 <0001  <0.001 0.01
H10 |HBEERRUEHEBEESR 10
H11 [DVvHRRUZDILEY 0.17 0.8
H12 |ROERUZDILLEY 1.0
H13 |mig{bxFR 0.002
Hi14 14154y 0.05
#15 v '3_:’*"””1"‘?’ <0.001 <0.001| <0001 <0001  <0.001| <0001  <0.001 <0001 <0001 <0001 <0001 <0001 <0.001 <0001 <0001 <0.001 <0001  <0.001 0.04
REUMYA-1,2-Y9001FLY
16 [V oomrgy 0.02
#17 |7h59ooIFLy 0.01
#18 [MoonzFLy <0.001 <0001/ <0001  <0.001 <0001 <0001  <0.001 <0001 <0001  <0.001 <0001 <0001 <0.001 <0001 <0001  <0.001 <0001  <0.001 0.01
H19 |AvtE'Y 0.01
Hoo & 0.09 0.1 0.12 0.12 0.08 0.08 <0.06 0.1 0.09 <0.06 0.1 0.09 0.13 0.12 0.1 <0.06 <0.06 0.22 0.6
#21 |yonEEE: <0002 <0002/ <0002 <0.002 <0002/ <0002 <0.002 <0002/ <0002 <0.002 <0002 <0002 <0.002 <0002/ <0002 <0.002 <0002  <0.002 0.02
o2 |yoofLh 0.010 0.011 0.017 0.01 0.018 0.018 0.005 0.019 001 <0.001 0.008 0.011| <0001  <0.001 0.003 0.001 0.016 0.01 0.06
#23 |o'ynnEEEs 0.01 0.007 0.004  <0.004 0.011 0.007 0.006 0.012 0008 <0004 <0004 <0004 <0004  <0.004  <0.004 0.005 0.005  <0.004 0.04
#24 [¥'7'neynnr4y 0.002 0.004 0.004 0.004 0.001 0.001 0.001 0.002 0.001 0.001 0.006 0.007 0.002 0.001 0.004 0.003 0.003 0.005 0.1
#25 |R%KE <0001 <0.001| <0001  <0.001 <0001 <0001  <0.001 <0001 <0001 <0.001 <0001 <0001 <0.001 <0001 <0001 <0.001 <0001  <0.001 0.01
H26 [fab)norsy 0.018 0.022 0.03 0.021 0.027 0.027 0.009 0.031 0.016 0.001 0.022 0.028 0.004 0.001 0.012 0.019 0.029 0.025 0.1
#27 |MyOnEEEs <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 0.2
28 |7'mEY HOnrsy 0.006 0.007 0.009 0.007 0.008 0.008 0.003 0.010 0.005  <0.001 0.007 0.009 0.001  <0.001 0.004 0.007 0.01 0.01 0.03
#29 [7'nEfLA <0001  <0.001| <0001  <0.001 <0001 <0001 <0.001 <0001 <0001  <0.001 0.001 0.001 0.001  <0.001 0.001 <0001  <0.001  <0.001 0.09
30 [WVLTLTEN <0008  <0.008/ <0008  <0.008  <0.008 <0008 <0.008  <0.008 <0008  <0.008  <0.008 <0008 <0.008 <0008 <0008  <0.008 <0008  <0.008 0.08
H31 |ESRRUZDILEY 1.0
H32 |TMEZLRUZDIEEY 0.04 0.02 0.04 <0.02 <0.02 0.02 <0.02 0.2
H33 [HMERUZDIEEY 0.3
#H34 [ARVZDIEEY 1.0
H35 [TMILARUZDILEY 200
H36 [WHVRUZDLEEY <0005  <0.005  <0.005 0.05
#37 [Eiematy 11 13 12 13 12 12 13 13 11 16 14 14 25 25 20 19 18 10 200
H38 |YYLRT 2L (FEE) 120 96 76 70 72 56 55 300
H39 [EFZEEBY 69 68 194 94 95 204 170 156 135 110 110 500
40 (A REFEHER 0.2
Ha1 |V1tAzy 0.00001
A2 (2-2FWAYR NRT-N 0.00001
a3 I R mmE R <0.005 ~ <0.005  <0.005 <0.005  <0.005 <0.005 <0005 <0005 <0.005 <0.005  <0.005| <0.005 <0.005 <0.005 <0.005 <0.005  <0.005  <0.005 0.02
a4 |71/-1L35E 0.005
245 (B (EEEGRREDE) 0.7 0.7 0.7 0.7 1.0 0.9 0.5 0.9 0.9 03 0.7 0.7 0.3 0.1 0.4 03 0.6 0.4 3
#46 [pHiE 7.1 74 7.7 7.7 7.1 7.1 7.2 73 7.3 76 76 7.7 6.7 7.0 7.0 74 74 81| 58~86
§47 ﬂ* BEREROHN BEREROLGV REEZROAN BEREROLED REEZROAV BEREROLEV REEZROAV| BEREZROLEL REEZROAN BEREZROLEV | REEZROAV | BEREZROLEV RREZROAN | BEREZROLEL RREEZROAN BEREZROLEL REEROAN | EREZRHEN E".é,"'@?‘;l,\
§48 E',—ﬁ RREROHV | BEREROLEV REEZROAN BEREROLEV REEZROAN BEREZROLEV REEZROAV BEREZROLEL BEEZROAV BEREZROLEV REEZROAV | BEREROLEV RREZROAN BEREZROLEL RBEEZROAN BEREROLEL REEROAN | EREROHEN E".é,"'@?‘;l,\
Ha9 (EE <05 <0.5 <05 <05 <05 <05 0.7 <05 <05 <05 <05 <05 <05 0.9 <05 <05 <05 05 5
Hs0 |EEE <0.1 <0.1 <01 <0.1 <01 <0.1 0.1 <0.1 <01 <0.1 <01 <0.1 <01 <0.1 <01 <0.1 <01 <0.1 2
iz I e s 0.57 0.49 0.38 0.49 0.53 0.40 0.53 0.35 0.45 0.7 0.51 0.20 0.40 0.40 0.40 05 0.40 03




